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ENGLISH VERSION

Instructions :

(1) All the required calculation should be shown as part of
answer.

(2) Full marks of each question is shown on right hand side.

1  The following is the summarised record of one started 20
18t January, 2017 relating to contract No. 120 which was
completed during the year 315t August, 2017 :

Rs.
Materials directly purchased......................... 1,200
Materials supplied from stores........................ 500
Direct Wages.....c.oooeeiiiiieiiiiee e 2,200
Direct eXpenses .....ccooveeiiiieeiiiieeiieeee e 300
Architect fees ... 500
Overhead charges allocable to contract ......... 800
Depreciation on machinery ...............ccccee.. 200
Materials returned to stores ..........cccoceeunneeee. 240
Contract PriCe ....coccoovvveeeeiiiiiieeeeiiiiieeeeeeieeeees 8,000

From the above information prepare Contract Account.
OR

1 A product passes through three distinct processes to 20
completion. These processes are numbered respectively 1, 2
and 3. During the month of March, 2017 2000 units are
produced. The following information is obtained :

Process-1 | Process-2 | Process-3

Rs. Rs. Rs.

Materials 3,800 1,200 500

Labour 2,000 2,500 1,500

Direct expense 800 1,000 400
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The direct expenses for the period are Rs. 1,200, which
are apportioned to the process on the basis of wages. No
process stocks existed at the beginning or end of the month,
prepare process account.

2  The following data are collected from Varsha Limited for 20
the year ending 315t March, 2017 :

Rs.
Opening stock of raw-materials .......................... 33,000
Closing stock of raw-materials ............................ 54,000
Purchase of raw-materials ........cccoovveevneeinnninnn... 1,24,500
Transportation of incoming goods ........................ 6,750
Direct labour........coooiiiiii 1,08,000
Indirect labour..........ccooooiiiii 21,000
Direct eXpenses .....cooovvveeiiiiee e 24,000
Factory rent ........ccoooiiiiiiiiii e 10,500
Office TeNb cooviiniiiiiie e, 1,800
Salesman's salary ..........cccooooooiiiiiiiiiiin 3,600
Indirect material .............o 600
Depreciation on machinery .................cccccoeooooinnnn.. 2,400
Depreciation on furniture .............cccoeeeeiiiiieeieiiinnnnn... 300
Office salary ......ccooovieeiiiiiiieeieee e 3,300
Other expenses (factory) ........ccooeeeeiiviieeeiiiiieeeennnnn. 9,000
Other expenses (0ffice) ........ccooevviiiiiieiiiiiiiieei, 1,500
Remuneration to Manager (Rs. 7,500 factory,
Rs. 10,500 Office, Rs. 9,000
Sales department) ...........cooooovviieiiiiiiiineeeinn. 27,000
Sales eXPeNnSes .......ouveeiiiiiieeieeieee e 6,300
Transportation of outgoing goods ......................... 1,800
Income tax ..o 18,000
SALES e 3,90,000
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From the above data, prepare cost sheet and find out :

(1) Basic cost
(2) Factory cost
(3) Production cost

(4) Sales cost

(5) Profit.
OR
The Financial Profit and Loss Accounts of a 20
Manufacturing Company for the year ended on 315t March,
2017 is as follows :
Particulars Rs. | Particulars Rs.
To Materials consumed 50,000 | By Sales 1,24,000
To Carriage inwards 1,000 | By Share
To Direct wages 34,000 transfer
To Works expenses 12,000 fees 200
To Administration
expenses 4,500
To Selling and
distribution expenses 6,500
To Debenture interest 1,000
To Net profit 15,200
1,24,200 1,24,200

The net profit shown by the cost accounts for the year
is Rs. 16,270 upon a detailed comparison of the two sets of
accounts it is found that the amounts charged in the cost
accounts in respect of overhead charged as follows : Works

overhead charges Rs.

11,500, Office overhead charges

Rs. 4,590, Selling and distribution expenses Rs. 6,640 (Here,
assume that under absorption on over absorption hat not
been transfered to costing Profit and Loss Account but it
balance is carried forward to next year). You are required
to reconcile the profits shown by the two sets of accounts.
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3  From the following data relating to two different vehicles 20

A and B, compute cost per running mile :

Vehicle - A | Vehicle - B
Rs. Rs.
Mileage run (Annual) 15,000 16,000
Cost of vehicle 25,000 15,000
Road licence (Annual) 750 750
Insurance (Annual) 700 400
Garage rent (Annual) 600 500
Supervision and salaries
(Annual) 1,200 1,200
Driver's wages per hour 3 3
Cost of fuel per liter 3 3
Miles run per liter 20 miles 15 miles
Repairs and maintenance
per mile 1.65 2.00
Tyre allocation per mile 0.80 0.60
Estimated life of vehicles 1,00,000 75,000
miles miles

Charge interest at 5% per annum on cost of vehicles.
The vehicles run 20 miles per hour on an average.

OR
3  The following figures relate to three jobs of a 20
manufacturing business unit :
Particulars Job-1 Job-2 Job-3
Rs. Rs. Rs.
Direct materials 600 800 1,000
Direct labour 400 600 700
Direct expenses 60 80 100
Works overhead is recovered at 50% on prime cost and
office overhead is recovered at 10% on works cost. Find out
the total cost of each job.
MAF-7460] 10 [Contd...



4  The following information relate to the activity of a 20
production department of a factory for the month of June,

2017 :

Materials used .......ccooviiiiiiiiiiiee Rs. 36,000
Direct Wages.....cooooueeiiiiieiiiiee e Rs. 30,000
Labour hours worked ......................oooo. hours 12,000
Hours of machine operation...................... hours 20,000

Overhead chargeable to the department ..... Rs. 24,000

On one direct carried out by the department of a during
the month of July, 2017 the relevant data were :

Material used............ccoooeoeennill Rs. 6,000
Direct wages........cccoeeevveeeennnn... Rs. 4,950
Labour hours worked ......... hours 1,650
Machine hours.................. hours 1,200

Calculate the overhead chargeable to the job by the following
three methods :

(1) On the basis of direct wages
(2) On the basis of machine hours involved
(3) On the basis of labour hours worked.

OR
4 Calculate the normal and overtime wages payable to a 20

workman from the following data :
Days Hours worked
Monday ......cccceeevvvvnnnnnnn. 9
Tuesday .....cccceevvvnnnnn... 11
Wednesday ................. 10
Thursday ...........oovunee. 9
Friday ......cccoooeeviiiii. 9
Saturday .........cccceeeeeen. 5

53
Normal working hours .. 8 hours per day
Normal rate ................... Rs. 1 per hour
Over time rate............... Upto 9 hours in a day at single rate

and over a hours in a day at double
rate. OR upto 48 hours in a week
at single rate and over 48 hours at
double rate, whichever is more
beneficial to the workmen.
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5  Write short notes : (any four)

(1) ABC C(Classification of material
(2) Operating costing
(3) Bin card
(4) Characteristics and ideal costing system
(5) Escalation clause
(6) Labour turnover rate
(7) Economic ordering quantity
(8) Cost unit and cost centre.
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